What did the 8001b MONSTER

say fo the 4001 MONSTER ??

TO DISCOVER THE WORDS OF THE 800 POUND MONSTER:

Do each exercise and find the answer at the bottom of the page. Shade in

the letter above each correct answer. When you finish, the monster’s words
will remain!




NAmME

Why did the ant run across the cracker box?

Do any exercise below and find your answer in the corresponding answer column. The
letter of the exercise goes in the box that contains the number of the answer. Keep
working and you will discover the answer to the title question.

[T]-15 + 7 = @)7 ° [@(15+3)+14= (2)~1
[A]8 — -21 = 82 -27 ° [EJ(-10+-5)(2) = (@3
[D](3) (-9) = 28 50 :E(3-—4)+7: (1055
[H]-24 = 4 = 498 o [D](-9:6)+—4 = (7) 30
[E]-9 +-13 = @9-6 o [0](-30 - —22)-6 = 12 -58
0](-2) (-25) = 305 o [A](20 = 4)-—11 = 34 100
[L]-50 — 30 = - (5)29 o [El(28--10)-7= (009
G-56 + =8 = (8)-80 o [[J(-13 +~12) (-4) = (31) 31
[E]32 + -37 = (3) 22 o [L](4-76) +—8 = (21) -48
.. [M-5-20=" (912 & [Er 6+ 17) — 20 = " (19) 14
T30 +—2 = A1) -100 o [A](-64 +2) ~ 2 = (202
[A]-9 ——19 = @277 3 BI(-5--6)-"87 = 16)-9
[NJ-7--11 = @6 -14 ' [T](-40 + -50) =+ 9 = 35 -12
[0]-7 + -11 = @)-15 °* RI(-13--2)+-12=  (6)-87
[S]-60 + -5 = (1)-24 o @(42—-7)—6: | @7 75
12—36=~ @9-26 ° DI(5--80)(8)= 19 72
[E]-17 - -3 = A4 -18 o [L](-12 + -18) + 15 = 29-10
lffg | 17) 10 E [Tl(-8--8) — -8 = 19 16
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